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T HEAT: 1. IdTeT HrATa AT 81T H HEIRY & 3720ETeT hT ST FAT§?

RFe: (@) 0.75 gfaera (@) 01 gfaera

@) 1.25 gfaera (¥ 1.75 gfaera
Question Number: 1. What is the rate of employees’ share of contributions for a newly implemented area?
Option: (a) 0.75% (b) 1%

(c) 1.25 % (d) 1.75 %

TR WEAT: 2. TAFATRA AR RRcTormst fohdt e & $areiret 1 Sirel 82
RAFeT: (@) 3 e Aaigdr & 70 gfaera @) 3iraa i Fergdr @1 75 ufaerd
(@ 3iraa i Fergdr @1 80 wfaerd (=) 3 &t ATl 1 90 farerd

Question Number: 2. ESB is paid at what rates?

Option: (a) 70% of wages (b) 75% of wages
(c) 80% of wages (d) 90% of wages
TS WEAT: 3. TSi1a 3T HTAT FHoIToT AT 3 RIS HedT ATRaH fohe AT de fear sarg?
Reea: @) 013y @) 029
@1 03 a¥ (¥ 05 a§
Question Number: 3. Under Rajiv Gandhi Shramik Kalyan Yojana, unemployment allowance is paid for a maximum
period of?
Option: (a) 1 year (b) 2 years
(c) 3 years (d) 5 years

WA WEAT: 4. Taoerd ey o1 31 aram g2

fawe: (F) VO FHAART I 1o AT 76T ©
(@) Y Y v AR e Tl Y o W & ST d
(31) T ST Tl ey & 3H2ACTeT T 31T w61 hlell &
() IR-FATead 817 7 FHH HI aTell HAAR

Question Number: 4. Exempted employee means?

Option: (a) a person who is not coverable
(b) a person who is above the wage ceiling

(c) a person who is not required to pay employees’ share
(d) a person who is working in a non implemented area

TR WEAT: 5. forell Fetany & Hawr 7 fasfard wadd sraune forae e s g1

ICETaE (F) GRT 52 (@) YRT 57

@n e 52 @) fafaTe 52
Question Number: 5. Exemption of an employee is given under-
Option: (a) Section 52 (b) Section 57

(c) Rule 52 (d) Regulation 52

TR HEAT: 6. ST AT HTAF FHoATOT AT & HedTd SRISTITRT HedT T Jfaerd T §?
RFea: (F) AT T 40 Ffrerd
(@) AT T 50 Ficrerd

(31) HAGY T 60 Ffcrerd
(&N AT AT AR & Jar & 3@ W FIR Far gl

Rough Work
% P
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TR HEAT: 99. 5 HEAT 98 T T I 92T F FcTeh o1 Teh 3R IF HcATHIcl ST ofcll & | 37 TRIEUTA F fRTelnst &1 shideh Question Number: 6. What is the percentage of unemployment allowance under RGSKY-
)

Option: (a) 40 % of wages
feear Far g -
(b) 50 % of wages
ICETaE (@) faerar & faw 3/5 vd A+ g7 & fod 2/9 (c) 60 % of wages

(d) Depends upon the length of service in insurable employment

fatrar & ford 3/9 Td e 99 & ford 2/9 . .
@ g o T WooT WEAT: 7. “NFAT safFa” e aRT & aReRe fhar arr 2

@ ferar & ford 3/7 U9 9 ?%%2/7 AFeT: (F) URT 2(130) (&) 4R 2(14)
() Frerar & forr 3/7 vd wedeh g & fordy 2/9 (M) 8T 2(140) () 81T 2 (14V-0)
Question Number: 7. The phrase “insured person” is defined in-
Question Number: 99. In the case mentioned at Question 98, a posthumous son is born to the widow from the
_ _ Option: (a) Section 2(13A) (b) Section 2(14)
deceased IP. Now the respective shares will be - (c) Section 2(14A) (d) Section 2(14AA)
Option: (a) 3/5 for widow and 2/9 for each son TooT HEAT: 8. “TeITeT Forora” T IR e &Y i
(b) 3/9 for widow and 2/9 for each son e (&) YR 2(15) (@) ORT 2(157)
(c) 3/7 for widow and 2/7 for each son (3T) ©IRT 2(154) (¥ ©IRT 2(17)
(d) 3/7 for widow and 2/9 for each son Question Number: 8. “Principal employer” is defined in-
oS TEAT: 100, 35 T 98 3 3T goe 7 afTa Eﬁrﬂf_{ - g‘:ré? 1 % e B R mﬁﬂﬁf_ﬁfaﬁﬁﬂﬁ s Option: (a) Section 2(15) (b) Section 2(15A)
(c) Section 2(15B) (d) Section 2(17)
& et Far gl - T TEAT: 9. “TiwH FR@EAT H IR gl & TR
RFeT: (&) TAH T Y 2/5 ICET B (&) YURT2(17) (&) 9RT 2(18)
(@) 5T T 206 (1) &RT 2(19) (&) &IRT 2(19T)
Question Number: 9. “Seasonal factory” is defined in-
@) T2 ‘fl;:fﬁZ/? Option: (a) Section 2(17)
(&) S G I 2/9 (b) Section 2(18)
(c) Section 2(19)
Question Number: 100. Further to Question 98, the widow dies a few months after birth of the third son. So now the (d) Section 2(19A)
share the of the sons would be - e HEAT: 10. fAFAThd 7 & Pt AT SR 787 &
Option: (a) 2/5 to each son fRwe: (@) T FE & TOIT 1o et arell Wiale haredy
(b) 2/6 to each son (@) 9T ALY & foIT =it Srey arely tharedy
(c) 2/7 each son (3N) 1T AL IR T aTell thare {T
(d) 2/9 to each son () 39 Fr

Question Number: 10. Which is not a seasonal factory-?
Kok KKk K Option: (a) A Cement factory working for 5 months
(b) A factory manufacturing sugar for 5 months
(c) A factory manufacturing lac for 5 months
(d) All of the above

T WEAT: 11. F.I.8). [ & fohde Tee “wa=ial” & wfafafr sia g1
RFeq: @) 4 @5
@M 8 (%N 10
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Question Number: 11. How many persons representing “employees” are members of the Corporation?

Option: (a) 4 (b) 5
(c)8 (d) 10
e HEAT: 12. .08, TI9TH I 21051 1A # “F=Ral” o yfafafRica st arel 968 fovdar €1
fawew: @) 2 @3
@n 4 (5
Question Number: 12. How many persons representing “employees” are members of the Standing
Committee?
Option: (@) 2 (b) 3
(c)4 (d)5
TR HEAT: 13. FH.I0.87. o7ora & Rafercar iRdemsr aRwe 7 waariar s ufafafica e arer dee fovdst 82
fawew: @) 2 @3
@4 (5
Question Number: 13. How many persons representing “employees” are member of the Medical Benefit Council?
Option: (a) 2 (b) 3
(c)4 (d)5
w2 HET: 14. Rfdrcar fgaemer avg & geeal i geeadr & safer Farg?
RFe: (&) 2 Il (@) 39TeT
@0 4 911 (&) 5 dret
Question Number: 14. What is the tenure of the members of the Medical Benefit Council
Option: (a) 2 years (b) 3 years
(c) 4 years (d) 5 years

TR WEAT: 15, FATheaT fgceler TR, T Tgerd 3TETET hiel gicl o?
e (@) AT, FHT ToT AT [T

(@) ARITIeRreh, TarEyy Jart
@) farfehca 3mgerd
(5 3T H 8 FIg o1
Question Number: 15. Who is the Co-chairman of the Medical Benefit Council?
Option: (a) DG ESIC (b) DG HS
(c) MC (d) Non of the above
WRT EAT: 16. Aol IfAfhe F3Ae HT ATFaAT Ta Seieal &l T9ar0T wHaNT I3 STAT JifferasT dr arr 22 & ifafked
et afota g
ICETRE @) e 12 @) I 14
@ fafeae 12 (= fafage 14
Question Number: 16. Power and duties of the Medical Benefit Council are given in Section 22 read
with -
Option: (a) Rule 12 (b) Rule 14
(c) Regulation 12 (d) Regulation 14

TR WEAT: 95. Tafergs 72 & 37eleT fohctel fereit & fareiar o weeTe] AfSenet a1 8 31eqIer a1 &1 fo¥erereh o I foreraer HTH

& o AT ST &-
RFeT: () TH AT (@) ar aret
(31) it FTeT CRIERIC

Question Number: 95. Delayed requests for medical Board are sent to Regional Director under Regulation 72 for

Condonation of delay beyond-
Option: (a) 01 year (b) 02 years

(c) 03 years (d) 05 years
TR WEAT: 96. ATl SIS & Soeh T 51918, AT T Ty hr Gyt A cafehed 1 fohe T & HSi Sirelt &-
Ree: (&) ESIC 101 (@) ESIC 134

(3n) ESIC 146 (&) ESIC 151

Question Number: 96. Date, time and place fixed for Medical Board is communicated to IP in-

Option: (a) ESIC 101 (b) ESIC 134
(c) ESIC 146 (d) ESIC 151
TR HEAT: 97. ATET FIAT H AT fgdelnst Toreex fhd 9o # FoIrm 77T -
RFeq: (&) ESIC 40 @) ESIC 147
(31 ESIC 69-A () 3RFT & T IS AT |
Question Number: 97. DB register is maintained in Branch Offices in -
Option: (a) ESIC 40 (b) ESIC 147
(c) ESIC B3 A (d) None of the above
TR HEAT: 98. T TEcTel1eT o Ueh HIHC H HcTeh & T 7 Teh faral Td & aTeleh & | S8 TR 3T TRt &1 shideh
TeEaT T gramm|

ICETa (@) faerar & AT 3/5 Td ycds 99 & o 2/5
(@) Tarar & fere 3/5 vd gedsh g7 o ferd 2/7

@) faerar & forw 3/7 va 9l g7 & fod 27

() 3TN 7 8 PIS Tel

Question Number: 98. In one case of DB, deceased IP left behind widow and 02 sons. Here, the respective share of
DB will be -

Option: (a) 3/5 for widow and 2/5 for each son

(b) 3/5 for widow and 2/7 for each son
(c) 3/7 for widow and 2/7 for each son

(d) None of the above.
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TR HEAT: 90. SFCATIR Fieegorere SETady & forw ufar fiffie saferd aRar weheh 0X 4T $Hhiteer Yok T ¢-
RFe: (%) 325/- T9F (@) 400/- 39
() 450/- T9I (%) 500/- TG

Question Number: 90. The capitation fee payable to Employer Utilisation Dispensaries per IP family unit per annum
is-

Option: (a) Rs. 325/- (b) Rs. 400/-
(c) Rs. 450/- (d) Rs. 500
TR WEAT: 91. Teh oI SNTAT e iehel dTel 819 3] Fohclol Toeold deT FlIehTd B-
RFe: )2 @3
@m 4 (¥1) U Tqerd
Question Number: 91. How many ambulance vans is the norm for an implemented centre within 01 lakh IPs-
Option: (a) 2 (b) 3
(c)4 (d) One ambulance
TR HEAT: 92. & .I0.8T. oT9TH gaRT UEaifad T¢T ISIAARN S18T 3727aT BT fohd 9RT o 316X T fohaT ST dhdT & -
ICETaE (F) GTRT 58(2) (T) URT 58(3)
(31) 4IRT 58(4) (&) 9T 58(5)

Question Number: 92. The State Autonomous Body or Society being proposed by the ESIC can be set up under-
Option: (a) Section 58(2) (b) Section 58(3)
(c) Section 58(4) (d) Section 58(5)
weeT HEAT: 93. fAfia# 32(10) & dgd TR Toree i 3§ gor 3ifa#w ufafSe & forder et der Fenfia sear giam &-
RFe: (F) T ATl tRIGEIE
(@) dfer arer () EHT TR AT gIaT &
Question Number: 93. What is the period of retention of register under Regulation 32 (1A) from the date of last
entry therein-?
Option: (a) 01 year (b) 03 years
(c) 05 years (d) Permanent retention

TR WEAT: 94. o Fafaarat & A B1e-10 # 3re7afeafay &1 Heamaer ram S 82

ICETaE CORCIGRLEYAY @) R_fATF 61-T
@ _fe 62-T (&) 3RFT F H IS o8l
Question Number: 94. Abstention verification is done in Form-10 under which Regulation?
Option: (a) Regulation 52A (b) Regulation 61A
(c) Regulation 62A (d) None of the above
20

TR HEAT: 17. F.I.9). [AITH & AT o AT T A forg a7 ¥ AIfAd e &2
Rwe: (%) URT 26 () URT 27
(3T) RT 28 (1) 9T 29

Question Number: 17. Purposes for which the ESI Fund may be expended are governed under?
Option: (a) Section 26 (b) Section 27
(c) Section 28 (d) Section 29

Y& WEAT: 18. 32UCTeT ATl el shT TEAary fohehr 82
RFeq: (@) YT s (@) dcohre ferdierdr

(EIGLEIES] (&) ... AT

Question Number: 18. Paying contributions is the responsibility of whom?
Option: (a) Principal employer (b) Immediate employer
(c) Insured Person (d) ESI Corporation

TR WEAT: 19. UIRT 45-TT & HAINT 3ol lel bl AT HIAT FAT 572
Reu: (F) SIRT 45-T 371eer 1 A & 60 feet

(@) YR 45-T 311er hr fafdr & 30 fet

(3T) &IRT 45-T 37Te2T I 9T & 60 et

(51 ©T9T 45-T 371¢:2r & foreTeT gle & 60 feeT

Question Number: 19. What is the time for Appeal under Section 45-AA?
Option: (a) Sixty days from date of Order u/s 45-A

(b) Thirty days from date of receipt of Order u/s 45-A

(c) Sixty days from date of receipt of Order u/s 45-A

(d) Thirty days from date of dispatch of Order u/s 45-A
TR WEAT: 20. FHGEI THRAIST T e fohy URT 3 2
ICETRE (%) GRT 51T (@) &RT 51-81
(3T) YRT 51-3Y (T ERT51-8
Question Number: 20. Commuting accidents are governed under?

Option: (a) Section 51-B (b) Section 51-C

(c) Section 51-D (d) Section 51-E



W WEAT: 21. NfAT afed & IRAR 7 et afer 781 &1
Rsew: (F) TG W AR 9fa I1 It
(@) 24 a¥ &Y I T
@ U 3farfed AT safFa w1 ArarfoeT srs g Arar-far shfaa 7 &1
(&) 24§ s 3mg 1 Hfaried go
Question Number: 21. The “family” of an insured person does not include-
Option: (a) Spouse who is not dependent
(b) Son who is 24 years old

(c) Minor brother of an unmarried IP whose parents are not alive

(d) Unmarried daughter who is 24 years old
TR WEAT: 22. .30, fAae & AT FgTiacamera H TUI=T 378 €RT & 3o Td gl 81
ICETaE (%) Section 58 (@) Section 59

(M) Section 59-A (&) Section 59-B

Question Number: 22. Nursing colleges of the ESIC are set up under-

Option: (a) Section 58 (b) Section 59

(c) Section 59-A (d) Section 59-B
TR WEAT: 23, B 1A SATehel o T I TRIThedl 8 Siet & Tordy 317S. .. 3l &1 [3TclTet feham STTem 81
faeew: (%) AgeT 3T () AT et

@) e FRfhea stear () IRIFT H T IS AT |

Question Number: 23. For domiciliary visit, IMPs are paid-
Option: (a) Conveyance allowance

(b) Travelling allowance

(c) Domiciliary treatment allowance

(d) None of the above
T HEAT: 24. AT AT & TRAR-SToT Y o7 & F 7 78T YeTeT fohar Srar g

faerew: () FIAA 3feT @ Fhw e
@n) 9 AR (e SETeT TR
Question Number: 24. Which of the following, are not provided to families of IP-
Option: (a) artificial limbs (b) Artificial dentures, teeth
(c) Pacemaker (d) Wheel chair
TR WEAT: 25. 1,00,000 AT safFd arer swrfieatad & & fov frdelt trgerd A 81
fae: @) 2 @3
@4 () 6
Question Number: 25. How many ambulances are admissible for an implemented centre having 100,000 IPs-?
Option: (a) 2 (b) 3
(c) 4 (d) 6

Question Number: 85. List of medicines to be provided by IMP as mentioned in IMP Manual contains

Option: (a) 20 medicines (b) 52 medicines
(c) 75 medicines (d) None of the above
TR HEAT: 86. TAATA H YA NAT INAR Teheh & T 318 T, 1 wfcias &7 efeereT goeh 3 §-
e (F) 250/- T (@) 325/- T9A
(31) 300/- TTF (%) 500/- TTF
Question Number: 86. The capitation fee payable to IMPs at present per IP family unit per year is-
Option: (a) Rs. 250/- (b) Rs. 325/-
(c) Rs. 300/- (d) Rs. 500/-
g HEAT: 87. fAreToT ufcdesT ured glet o fohdet feait o 37ex uts 918 faerfaal o deer & 9 372rar wret 1-18 & Aifed
SR greT =g
e (@) 30 feaT @) 40 et
@) 60 foT (¥n) 07 &1

Question Number: 87. By what time should, after receipt of Inspection Report, a discrepancy letter or Notice in Form

C-18 be issued-
Option: (a) 30 days (b) 40 days
(c) 60 days (d) 07 days
TR HEAT: 88. .19, o & Ta1fAca arer #1911 & o .34, Aottt § aqe o Seiarer o 1 -
ey (@) T TE o THN W AT famam e &
(@) HAT & 37eT HATT AT (7/8) 7 IR faam e &
() FIAT o TR HTA 31eTdTd (7/8) H RIS Foam STl &
() QI AT & EaRT YeT: . I&. famer o 3R foham Sirer §
Question Number: 88. Rent charged from ESI Scheme in respect of buildings owned by the ESIC is-

Option: (a) Charged fully on the State Govt.
(b) Charged in the usual ratio within the ceiling
(c) Charged in the usual ration outside the ceiling
(d) Charged back to ESIC fully by book adjustment

TR HEAT: 89. sy TAfhcdT 3Tl & SaRT fohtrdr o fordy a1 3. v, 317, f3eendy a1 fanarar-
RAFe: (F) T THR I G e IR Foham STrelr &

(@) T e ... FoXeTer ey e fovar AT &

(31) TAT o STET ATHAT AT A AT TR I 3R Foham Sirer &

(€N HIAT & 3Heed FHAT AT H Tod AR 9T 3R fohvam Sirar g
Question Number: 89. Rate of ESI dispensaries contracted by SMC is
Option: (a) Charged fully on the State Govt.

(b) Borne fully by the ESIC

(c) Charged in the usual ratio outside the ceiling

(d) Charged in the usual ratio within the ceiling
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YReT HEAT: 81. “Tfe; IS AAemaneh T2 His(e AE &1 oY ASTIR & RTeT Tfe geestT sl AT & HROT g3 &7 AT
ST |” I8 TTae fohe &RT & afota g

RFea: (&) URT51-T (@) &RT 51-87
(3T) &IRT 51-31 (T aRT 518

Question Number: 81. “Any accident arising in course of employment shall be presumed, in the absence of evidence

to the contrary, also to have arisen out of that employment,” has been given in-

Option: (a) Section 51A (b) Section 51B

(c) Section 51D (d) Section 51E
9o HEAT: 82. foh e fAfY & AT § HAT geieaT &l AR = & 39 & TR fohdm ST T 8 |
Reeq: (&) 01-02-1991 (@) 20-10-1989

(31 01-06-2010 (] 01-02-2011
Question Number: 82. Commuting accidents are accepted w.e.f.-
Option: (a) 01-02-1991 (b) 20-10-1989

(c) 01-06-2010 (d) 01-02-2011
W WEAT: 83. Tohe IR & AT fecTolrer hr &T a1 GoATeTeiRoT g1 Fehe &-
e (&) STAER & ST 8o T 37 YT T ol T

(@) T GTAGR & S d oled I

(3T STAER T HY Bled

(&) 3R FafT 7

Question Number: 83. In which cases DB can be reviewed-
Option: (a) attainment of age of majority by claimant

(b) Birth of new claimant

(c) Death of existing claimant

(d) All of the above
TR HEAT: 84. & I8, rf&ferars # Qarfargfcr 1 fanet epr aRemia fovar aram g1
RFeT: (%) 58 T T 31T el Hlet

(@) 60 A T 3T JTCT oA Y

(@1 TET0Z7 3MST A T FIaoT & 31TER

(8N 3RIFT H A HIS 76T
Question Number: 84. Superannuation has been defined in the Act as-
Option: (a) Attaining the age of 58

(b) Attaining the age of 60

(c) As mentioned in Standing Orders

(d) None of the above

WS WEAT: 85, 3HTS.UA.UY. A3l o ITER 3HTS.TA.N. & SaRT YeTel hl STTat-aTell ear3ii i gir & fohcei qard aiFaAferd 8-

RFe: (&) 20 gard (@) 52 gary
@) 75 gt (&) 3RIeFd H A IS 8T |
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TR HEAT: 26. FHIRT STAT AT ST TATTAT HleT BT &
Ree: (@) TS =amaredrer (@) 3T =TT
(@1 T THR (CIERREGEE]
Question Number: 26. Which authority sets up E.I. Courts-?
Option: (a) District Judge (b) High Court
(c) State Govt. (d) All of the above
TR HEAT: 27. FHAN T STAT ~ITATAT o 3G & Ta6g 37Tl et hl FAAETY AT 5?2
e @) 30 feeT @) 45 et
@3 60 &=t (%N 90 &=t
Question Number: 27. What is the limitation for an Appeal against an order of the E.I. Court?
Option: (a) 30 days (b) 45 days
(c) 60 days (d) 90 days
weeT HE&AT: 28. .41, 19 & T 3FRT va Foardy Far 82
faweu: (F) olteh TITEhRY (@) ¥ qaeh
(31 THRT T (CIEEREGEE ]
Question Number: 28. All officers and staff of the Corporation are-
Option: (a) Public authorities (b) Public servants
(c) Govt. Servants (d) All of the above
weeT HE&AT: 29. AT fgdemsr aRve & e & HRA FT 57
ICET2 (&) 5 &I (@) 7 GeEg
(3N 10 F&&T (¥ 12 &
Question Number: 29. What is the quorum for meetings of the Medical Benefit Council?
Option: (a) 5 members (b) 7 members
(c) 10 members (d) 12 members
TR HEAT: 30. .03, TAITH & HINT o fAI2r T AT b e Taens & afAd grarg?
ICET @) e 23 @) fafaas 23
(@ fFze 27 (@ R_fage 27
Question Number: 30. Manner of investment of the funds of the Corporation is governed by the provisions of-
Option: (a) Rule 23 (b) Regulation 23
(c) Rule 27 (d) Regulation 27
WeeT HE&AT: 31. R.T.I. T AT AT E?
faee: () TT 3T 3fesdesa (@) T5T 3T IeEfed
(3T) TTST 3T FABRALT (€ TST 3T FraETINeeT

Question Number: 31. R.T.l. means-
Option: (a) Right of Independence
(b) Right of Identity
(c) Right of Information
(d) Right of Investigation



TR WEAT: 32. FAAT o SR HaTR 3G TTe g1t o fehctel Tl 3 3ie elteh Felell FeTfreh{T SarT e YeTel el

37T 3TdEsT I HROT T FIAT AT 87?2
AweT: @) 10 e (@) 30 &t
(31 40 &=t (%N 60 ot

Question Number: 32. By what time should the CPIO provide information or reject it with reasons, from the date of
receipt of request?

Option: (a) 10 days (b) 30 days
(c) 40 days (d) 60 days
TR WEAT: 33, FEAAT & HTARR HTATATH oh gl Jci1g T&T & Hel eIl GaaT oh JETdc SHTCe o [aeg ol JaT a1
3ATAE fohctel feail & 3eeX & Fehell 87
weT: @ 10fe= @) 30 =T
(M) 40 =T (%N 60 &t
Question Number: 33. By what time should a third party make representation against proposed
disclosure?
Option: (a) 10 days (b) 30 days
(c) 40 days (d) 60 days
TR HEAT: 34. 1 olleh Felell ITRIRRY A FAAT ITC glet & Tohelel ferail s 3o TIH el JTRIhRY 3 urd 3dref e
ST ehdT g2
ICETRE (@) 10 f&eT (@) 30 feT
(@) 40 e (¥ 60 feT

Question Number: 34. By what time should an appeal be filed before the first Appellate Authority from the date on
which reply is received from CPIO?

Option: (a) 10 days (b) 30 days

(c) 40 days (d) 60 days
YRS WEAT: 35. Fiieh Feloll AR GaRT SIS ATeld, VT 31UdT $THb FeaT Sl 8 &3 IR T Hafeg TRy Far g?
RFe: (%) 9T 10,000/- (@) T 25,000/-

(3N) T 50,000/- (&) 9 75,000/-

Question Number: 35. What is the maximum amount of penalty that can be imposed on a CPIO for knowingly giving
incorrect, incomplete or misleading information?

Option: (a) Rs. 10,000/- (b) Rs. 25,000/-

(c) Rs. 50,000/- (d) Rs. 75,000/-
TR WEAT: 36. HTHTToTeh &I JTTSNI/TeTEreh h UG UX Yelewicl ey oh foIv TreiRer gdidiet r srafer 41 g2
RFea: (%) 06 HEIAT @) 01 ¥

@M 02 a§ (r) SIETeT o] o TeT &
Question Number: 36. What is the period of probation prescribed for persons promoted to the post of

SSO/Manager?

Option: (a) 06 months (b) 01 year

(c) 02 years (d) No probation
e HEAT: 37. fAe1Thd 7 A i “H1ZaR AT §7?
Re: () TATIAT @) e

() 37TarY 3raehrer () SETEFT

8

yeeT E&AT: 77. AT A & o sfafafRee Rifrea &g amar e gt &-
e @) VTR FIIH AT &
(®) 372AETeT 37af 7 78 & & 3i2MerT & g
(1) &Y 32AETeT ™ & 78 T & 3i2AETe & &g
(5N 3T 7 & g et
Question Number: 77. Entitlement for SST by IP is
Option: (a) From day one of employment
(b) Contributions of at least 78 days in one C.P.

(c) Contributions of at least 78 days each in 02 contribution period

(d) None of the above
wReT HEAT: 78. “dARY” T TRHATT gl &7 I3 §-
Reew: (F) ERT 2(T) (@) 9RT 2(197)
(3N YRT 2(20) (&) 9T 2(21)
Question Number: 78. “Sickness” is defined in-
Option: (a) Section 2(19)
(b) Section 2(19 A)
(c) Section 2(20)
(d) Section 2(21)
W WEAT: 79. [AFAIThd 7 O hiet e dl §, 579 Haft H a0 T oA e &
ReT: (F) T H T: FALIAT I e aTell 9 thare T
(@) 375 Felfeiar gfaer
@n faYd Fe-FeemT
(CIERNETEEN]
Question Number: 79. Which, of the following is a factory, all employing more than 10 persons-?
Option: (a) An ice factory working for 06 months in a year
(b) A dry cleaning facility
(c) An electric sub station
(d) All of the above
wReT HEAT: 80. fAe=TIfha 7 & T “Fagdy” AL -
ICET2 (@) foraTE Fear
(@) I T et e
(3T) ST S
(%) aTgeT Hedr

Question Number: 80. Which is not a “wage”-?
Option: (a) Subsistence allowance

(b) Heat and Dust allowance

(c) Washing Allowance

(d) Conveyance Allowance
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TR HEAT: 72. FA AN Ao AT JfRferasr i ey segge 7 = aftha 8-
RAFeT: (@) fafeesr Tiet Hr aRFTATT 7 315iaT &737aT 7 81far &1 ufaera
(@) 3791-8997 1 FEAfS 7 3191 &737ar & grfey 1 wfaera
(3T) ST 3T hY T
(8N gSiTet T &Y
Question Number: 72. The Third Schedule to the ESI Act gives —
Option: (a) Percentage of loss of earning capacity in different injuries
(b) Percentage of loss of earning capacity in case of amputations

(c) List of occupational Diseases

(d) Rate of damages
v WE&AT: 73. [t AT cafed $r Sar awar fhaa s Fraxar gl

fawe: (%) 08 3% (@) 09 37
(3N) 10 37 (%1 T3 A IS T
Question Number: 73. Insurance Number of an IP consists of —
Option: (a) 08 digits (b) 09 digits
(c) 10 digits (d) None of the above
TR WEAT: 74, HHARY T AT 973 T b ASHISE o SaRT A ATSTeh 9T GoTIehiOT Uel 37RIGTa ohT $[ITclTel il o-
ICETRE () www.esic.org (@) www.esic.nic.in
(37 www.esic.gov.in (&) www.esic.in

Question Number: 74. Employers are now accessing ESIC website for registration and payment of contributions. This
is—

Option: (a) www.esic.org (b) www.esic.nic.in
(c) www.esic.gov.in (d) www.esic.in
TR WEAT: 75. A TecTeleT hY It & Yedieh a¥ Sitdet AT 9 fohay HEI & STHT YT g1l 8
RFeq: (&) STTaT @) 3
@1) Sfe S CIGEEES
Question Number: 75. Life certificate is required to be submitted every —
Option: (a) January (b) April
(c) July (d) November

w2 HEAT: 76. fAitend 7 & ford 310l & fordr Rafercar grea &Y et & a1, favard Rafercar edeimeT 9red &ist arel
e cafea a1 faear garT el & Afew G e ST Fehar -

RFeT: (%) 06 ATE (®) 12 AT
(1) 18 ATE () 24 ATE

Question Number: 76. An IP who is receipt of ESB can be dismissed/discharged from service by his employer on due
notice if he has been on treatment for not less than —

Option: (a) 06 months (b) 12 months
(c) 18 months (d) 24 months
16

Question Number: 37. Which of the following is a “minor penalty”?

Option: (a) Warning (b) Censure
(c) Compulsory retirement (d) Dismissal
9o WEAT: 38. W.HW . TH. (Feisae) Aga & fvw s & gufca & defva ufades & 1 uraensT g2
Ree: @) TH 14 @) fAT# 15
(@ Fze 17 () AT 18
Question Number: 38. Under which conduct Rules are forms specified for submission of property returns?
Option: (a) Rule 14 (b) Rule 15
(c) Rule 17 (d) Rule 18

TR HEAT: 39. AT el AT 3 TR Hareh & HTAANSTT g FAHe IC 7 Afdd & af a1 38 Aol 7 36 fa%g
Temafr SreTeIaaATeHe SHIAaTEr 1 S Hehell -
e @) &l
@) et
(@) FrmeiT FHIATEY &t AehT ST ThaT &
(F) IRIFT H T P A

Question Number: 39. When the same matter has been taken up in a Court of law for prosecution of a Govt. servant,
can departmental action also be taken?
Option: (a) Yes
(b) No
(c) Departmental action may be stayed
(d) None of the above

92T HEAT: 40. fAFATTRd 7 & HleT TTER TIHRY HHARY T AL IS &1
e (F) TOT IESATVSATAGR TR G-
(@) ST & gfa AT
() 1S &1 THT 1A & Y S EHRY Yaeh o foIw 39gered o 81 |
(CIESREGEE!

Question Number: 40. What behavior in expected of a Govt. servant at all time?
Option: (a) Maintain absolute integrity

(b) Maintain devotion to duty

(c) Do nothing which is unbecoming of a Govt. servant

(d) All of the above

T EAT: 41.7A5ATThd 7 fond & SIeT 31Teh12l ATAT RATIT T 3T 8T fohaT T FeheT &

ICET2-E () ATJcd THT () 31T TeT TR
(3T) STeT ST 3T (%) 3TThTTHS HTehTA

Question Number: 41. LTC facility cannot be availed during
Option: (a) Maternity Leave

(b) Study Leave

(c) Child Care Leave

(d) Casual Leave



YR WEAT: 42. 3Teh1eT AT RATA g 31T GTee g1t oh IWIT Afe; 10 &t & feehe yreqeT et foham Sirr & & A 3ifarey &y

AR B AT ST 39S S @ -
Reew: (@) w0 forel & awge
(@) e w
(37) TeTH TSI & A0 W AR a=arg
(&) 3TaehTer AT RIS & 3113 1 s~ & 3rgeprer Im=r & FARN ST fohar ST dhdr g

Question Number: 42. What is the procedure to be followed to recover unutilized amount of LTC advance if tickets
are not produced within 10 days -

Option: (a) Recovery in monthly installments
(b) Recovery in full immediately
(c) At the discretion of competent authority

(d) LTC advance can be adjusted in future LTC travels

TR WEAT: 43. T S@HT Heall 7 g1 A fehcel feeit st fear Srar g |

RAFeT: (@) 20 &=t (@) 30 fe=T

@ 15 R () 1S HIATET B |
Question Number: 43. CCL cannot be granted for less than
Option: (a) 20 days (b) 30 days

(c) 15 days (d) No limit

UReT HEAT: 44. F I8, a1 & Isgufa/a=rers 7 i afedat va srf s gaier e garT fham rar |
RFeq: (F) AT, & 4T T

@) Tf3ar ST

(3N F 7.8, T & reger

(GIERRER L

Question Number: 44. In the ESIC, powers and functions vested in the President/Ministries of the Govt. of India are
exercised by -

Option: (a) DG ESIC (b) Standing Committee

(c) Chairman ESIC (d) All of the above
TR HEAT: 45. FHANT T STAT FA3TH & AT A€ AT & ATUET TR 1ok I I A Tehds Fiaderd #Tg -
RFeT: (&) 37T gfaerd (@) &g gfaed

(1) SRE fcrerd (CIRERRIGNE]

Question Number: 45. What is the maximum limit of administrative expenses in a year as a percentage of total
revenue income -?

Option: (a) 8% (b) 10%
(c) 12% (d) 15%
TR HEAT: 46. el o= & 1T g AoTalr 1 HieAT hgl &1 I & -
RFeT: @) T 50 @) fATa 51
@) P 52 () fa# 53
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TR HEAT: 66. J8THAT e TOd HATHT 7 Aol YA 6T 997 7 3797 RUIE gaeres &l &ar &-

ICETaE () RM-1 (@) RM-2
(3N RM-3 (] RM-4
Question Number: 66. In cases of incapacity reference, report of the MR is sent to Manager in-
Option: (a) RM-1 (b) RM-2
(c) RM-3 (d) RM-4
W HEAT: 67. F.I1.4. o1 & 31fRamRal vd saT=rRat v dar erdf & Gaer 7 wraenst #gi e a2 §2
ICET (&) IRT7 (T) URT 17
(3T) GRT 27 (8N) &7 37
Question Number: 67. Which Section of the Act deals with conditions of service of Officer and staff of the ESIC?
Option: (a) Section 7 (b) Section 17
(c) Section 27 (d) Section 37
W2 HEAT: 68. F.I.&1. HIC & GaRT fAUTRA R STt aTel ATAT 1 Fefienior fore T 7 feam rar g2
e () &R 74 (@) YURT 75
@3N YT 76 (¥ &IRT 77
Question Number: 68. Which Section of the ESI Act classifies matter to be decided by the El Court?
Option: (a) Section 74 (b) Section 75
(c) Section 76 (d) Section 77
TR HEAT: 69. T4 AT & IIRIcl HHTST Fhfel & Gof: ITTeT aidat bt AR AT # afoie wamm ot wrarenreT fomer ey 41 8-
ICETa (F) URT 85 (W) URT 85-T
(37) &TRT 85-&Y (¥1) YR 86
Question Number: 69. Enhanced punishment in certain cases after previous conviction is provided in-
Option: (a) Section 85 (b) Section 85 A
(c) Section 85 C (d) Section 86
YR WEAT: 70. TFHIST §oh hT HURUT el Tl TTaeite shel ed i ¢ -
RFeT: (@) =a# 66 @) faf=ra# 66
(@) =T 68 (=) fafager 68
Question Number: 70. Maintenance of Accident Book is given in-
Option: (a) Rule 66 (b) Regulation 66
(c) Rule 68 (d) Regulation 68
TR WEAT: 71. % IS, Trtell T Gawrd g1 gt arel TTT 91 A &7 5ot glet il Rl & A cafera 1 o3 Siret
AT ST Y 72T e -
Reew: (@) wfagfct (@) ATShel dlod

(31 T[T ST - FehrgeTae TraTHE (CIEIECIUER R

Question Number: 71. Payment to an IP towards cost of delivery of child in a place where ESI facilities are not
available is called-

Option: (a) Reimbursement (b) Medical bonus

(c) Confinement expenses (d) Delivery expenses
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9T HEAT: 61. 3T T ST fohds T AT § -

Ree: @) @r-1 (@) Hr-2
@n &r-11 (&) &@1-15

Question Number: 61. Periodical survey register is-

Option: (a) C-1 (b) C-2
(c) C-11 (d) C-15

TR WEAT: 62. TR AT T HloieT &1 T¥erreh SaRT fehd TR Teh FohaT STT HeheT -
ICETa B (&) ¥IAT 500/-

(@) T 1000/-

(31) F9AT 2000/-

(&) SRIFT F H IS o8l
Question Number: 62. Waiver of excess payment can be done by Regional Director up to-
Option: (a) Rs. 500/- (b) Rs. 1000/-

(c) Rs. 2000/- (d) None of the above.

W HEAT: 63. ATerdT T G e g TUTRT i 8l & -

RFeT: (@) 3ifas ufaser & gra Arel de S2rct 37 313 &7 1S Femram a1 fJare A1 8t
@) 3T ITASET A &7 ATl dh 92Ut 3 AT HT HIS THTAT AT fAATEG AT 8
(3T) AT TEMRT AT B &
CERRESEREIET ]

Question Number: 63. What is the retention period for employer’s files?

Option: (a) 05 years from last entry provided there are no arrears or dispute for that period
(b) 10 years from last entry provided there are no arrears or dispute for that period
(c) Permanent retention

(d) None of the above
TR HEAT: 64. AT AR AT FEATAT & ford e sfte e 39 ge dear #ar g?

faweT: (F) 1002 (@) 1102
(3T 1302 (%) 1402
Question Number: 64. What is the industry sub code for secondary educational institution?
Option: (a) 1002 (b) 1102
(c) 1302 (d) 1402
weeT HEAT: 65. Afdaer a1 &1 Aot fvaet R sirar &-
RFeT: (&) B.1. 1(a) @) B.1.-2
@mB.1.-3 = B.l1.-4
Question Number: 65. Decision of the Medical Board is given in-
Option: (a) B.I. 1(a) (b) B.1.-2
(c) B.1.-3 (d) B.l.-4
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Question Number: 46. Wage limit for coverage of an employee is given under-

Option: (a) Rule 50 (b) Rule 51
(c) Rule 52 (d) Rule 53
TR WEAT: 47. el AT 37a T g 37ereTe ohi & ot forarat g &2
Reew: (@) fAT# 50 @) IH 51
(@) TH 52 (@) e 53
Question Number: 47. Rate of contributions for wage period is given under -
Option: (a) Rule 50 (b) Rule 51
(c) Rule 52 (d) Rule 53
9o HEAT: 48. RATRcAT fRcTelret & Urad & NAT cafed & AT AAT-FIT v 3m2r a1 g -
RAFeT: (%) 3000/- 9 Ufd ATE (@) 3500/- T4 ufq #ATE
(3N) 5000/- 9 9fct ATE (&) 6000/- 9 T #ATE
Question Number: 48. What is the income limit for dependent parents of an IP for eligibility to medical benefit?
Option: (a) Rs. 3000/- per month (b) Rs. 3500/- per month
(c) Rs. 5000/- per month (d) Rs. 6000/- per month
Yo HEAT: 49. SNAT I U 38 IRAR & FIfehedlm & T.Sl.0a0.v4. & & 3TUR R aideh Rfehear ea2 & drar
FAT 8-
RFeT: (%) TI T TG (@) 39 ol
() T TFH FS (&) IS AT 7€ B
Question Number: 49. What is the limit of annual expenditure at CGHS rates for treatment of IP or his
family?
Option: (a) Rs. 05 Lakhs (b) Rs. 10 Lakhs
(c) Rs. 01 Crore (d) No ceiling

2T FEAT: 50. fArAifohd H & e T YR AT -
AT () Teh N AR o A ToAeherelr & 3R 3 thered wgwral & gl el &7 aRT Uz @
(@) haredl & 1 I a1l AT TfFa F tharedl T T I Tgh oilg P T8 F 3T A5 F T &
TISTelT ST e 91T &
(@) thered & e 3 ATER Toreherel 1 A caterer bt et ahT T T=elT &
(%) 3SR 6T Blet o a6 1 Teh AT <ATFd Toh TATAT & dUT T Tl AT H I J1T § e Hereasa
A cafde B Feg o ST
Question Number: 50. Which, of the following, is an employment injury -?

Option: (a) An IP left home and suffered heart attack before coming to factory.

(b) An IP working in the factory climbed to the roof for picking mangoes with an iron road and was
electrocuted.

(c) An IP suffered heart attack immediately outside the gate of the factory

(d) An IP who was not a driver, met with a fatal accident while driving a truck which overturned and
fell into the river.
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R HEAT: 51. .08, AT H T T Blet F U Teh AT I fhcter feit & 373 379+ SIS T ToflanioT T

AT TR -
we: (@) gt feeT @) a1a e
(N 5 feaT (%) Yeg et

Question Number: 51. Within how many days an employer should obtain registration under the ESI Act when it
becomes applicable to him.

Option: (a) 05 days (b) 07 days
(c) 10 days (d) 15 days
YR HEAT: 52. 3RIET $[ITTeT H 30 et o Freier & forw amay saret fre Fr

RFeT: o RIERIGEG] @) g gfaerda

(@T) IRE FferRId (¥ Fg faRrd
Question Number: 52. What is the rate of interest for delayed payment of contribution by 30 days?
Option: (a) 5% (b) 10%

(c) 12% (d) 15%

W HEAT: 53, IRMETeT $[ITclla 3 30 & o faeiel {1 9] goilel Sl e FATE -
RFeT: (@) gt wfaerd

@) g gfaerd

() SE gfaerd

(%) Yag gfcrerd
Question Number: 53. What is the rate of damages for delayed payment of contribution by 30 days?
Option: (a) 5% (b) 10%

(c) 12% (d) 15%

T2 HEAT: 54. STTST ! fohdh GaRT AT fohdT ST T © -
Ree: (@) ST 3G
(@) FH.8. F97H & FAgIfic e
(31) TTTST AT
() 3T H H FIs o7e T |
Question Number: 54. Which authority is competent to waive interest -

Option: a) Insurance Commissioner

(
(b) Director General ESIC
(c) Standing committee

(d) None of the above
TR WEAT: 55. URT 45-AA o 3TcTITel 3o ITRIHRY SaRT Tdiehd Y 31 AT T TR I A1) 51T X FATE -
RFeT: R IERIGEG]

(@) & iderd

(1) IRE FidArd

() 3R H IS AT
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Question Number: 55. What is the rate of interest for refunds allowed by the Appellate Authority u/s 45AA?

Option: (a) 5% (b) 10%

(c)12% (d) None of the above
TR HEAT: 56. foY: 2ot FaTay o HIY H Fed 1T AIFR fohctel I e foyerdT T 37reTeT &t 8-
Rwe: @Faray @) diT ay

@) 9T a§ (&) STe b To¥-rerctall TE el &

Question Number: 56. For how many years does the Central Govt. pay employer’s share of contribution in respect of
disabled employees?

Option: (a) 02 years (b) 03 years
(c) 05 years (d) As long as the disability lasts

TR WEAT: 57. YT GITCAT RTeleT & HelTercT ATSehol THTUT 95 AT HTGRIeh HIITSITC 3 AT ETaT Y&l el T TIH
TETeITS T $TITCATeT fohetet feretl oh 3e &Yl el &2

RA&eT: @) a1a &t (@) 9geE feet
(3T) T FEIAT (&) et FErT

Question Number: 57. After submission of claim with medical certificates and other documents as may be required,
within what time the first payment of PDB is payable?

Option: (a) 07 days (b) 15 days
(c) 01 month (d) 03 months
TR HEAT: 58. 3 ¥k Halgl & foie=ifend & & e & 1ot o) o=y & fRE a1 37ereTet & oTet
J
ICET2 (&) 100/- TT (@) 125/- 94
@) 137/- T (¥ 3TRIFT H T IS AT
Question Number: 58. Employees’ share not payable when the average daily wages is less than
Option: (a) Rs. 100/- (b) Rs. 125/-
(c) Rs. 137/- (d) None of the above
e WEAT: 59. fAeiTeha 7 & ahieT Hehreeh AaT AGT £7?
e (@) . @) T5E
@0 F 9T (&) TSI
Question Number: 59. Which is not an infectious disease?
Option: (a) TB (b) AIDS
(c) Leprosy (d) Glaucoma
TR HEAT: 60. FAFARe AT FTaTsT AT $737clTeT TR 7 et it o Fordr o S 81
e (@) 109 T (@) 124 f&e1
(3 135 et (%N 149 fe=
Question Number: 60. ESB is payable initially for -
Option: (a) 109 days (b) 124 days
(c) 135 days (d) 149 days
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